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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. What do you mean by correlation?

2. What is an index number?

3. What is sample?

4. Find the value of Y for the trend line y = a + bx from the following:

a= 65.75, b= 3.66 and x= 9.

5. Find rank correlation from the following: 

Total sum of d2 = 36 and N= 10.

6. Write the regression equation for Y on X.

7. Find out the seasonal index for the quarter period:

General average = 76.4, Average for the quarter = 75.2.

8. Fit a trend line by using graphic method:

Year 

2010
2012
2014

Production (units) 
   45
  50
  48

9. Calculate price index number by laspeyre’s method:
P1P0= 610, P0q0= 240, P1 q1 = 426 and P0q1= 170
10. Find out Bowley’s price index number from the following information:

P1q0 = 610, P1q1 = 426, P0q0 = 240, P0q1 = 170

11. Find the test statistic z from the following information:

Population mean= 400, Population SD = 20, Sample size = 100, Sample mean = 390.
12. A sample of ten house owners is drawn and following incomes are obtained. Mean ` 6,000; standard deviation ` 65. Test the hypothesis that the average income of house owners of the town is ` 5,500. (Table value of t   for 9 d.f. at 5% level is 2.262).
SECTION – B (5 × 5 = 25 marks)
       Answer any FIVE questions
13. Explain the principle of least squares.
14. Calculate the coefficient of correlation between x and y for the following data:

X
10
12
13
16
17
20
25

Y
19
22
26
27
29
33
37

15. Using three year moving averages determine the trend.

      Year:

2005
2006
2007
2008
2009
2010
2011
2012    2013
2014

      Production:
  21  
  22
  23
  25
  24
  22
  25
  26
  27
  26

      (‘000 tons)

16. Calculate price index number for 2015 by fishers method

	Commodity
	2005
   Price                  Quantity 
	2015

Price              Quantity

	A
	4
	50
	10
	40

	B
	3
	10
	9
	2

	C
	2
	5
	4
	2


17. Calculate the cost of living index number from the following data.

	
	Base year price
	Current year price
	weights

	Food

Fuel

Clothes

Rent

Miscellaneous
	30

8

14

22

25
	47

12

18

15

30
	4

2

3

2

1


18. Certain refined oil is packed in tins in tins holding 16kg each. The filling machine can maintain this but with a standard deviation of 0.5 kg. Samples of 25 are taken from the production line. If a sample mean is 16.35 kg. Can we be 95% sure that the sample has come from a population of 16 kg tins? (Table value of t for 24 d.f at 5% level is 2.064).

19. A random sample of 200 tins of coconut oil gave an average weight of 4.95 kgs. with a standard deviation of 0.21 kg. Do we accept the hypothesis of net weight 5kgs. Per tin at 1% level? (Table value at 1% level of z is 2.58).
SECTION – C (2 × 15 = 30 marks)
Answer any TWO questions
20. What is scatter diagram? Indicate by means of suitable diagrams, different types of correlation that may exist between the variables in a bivariate data.

21. Calculate the seasonal indices from the following data using the average method.

	year
	1st quarter
	2nd quarter
	3rd quarter
	4th quarter

	2008

2009

2010

2011

2012
	72

76

74

76

78
	68

70

66

74

74
	80

82

84

84

86
	70

74

80

78

82


22. Using the following data, construct fishers ideal index and show how it satisfies factor reversal test.
	Commodity
	Price in rupees per unit
	Number of units

	
	Base year
	Current year
	Base year
	Current year

	A

B

C

D

E
	6

2

4

10

8
	10

2

6

12

12
	50

100

60

50

40
	56

120

60

24

36


23. Values of a variate in two samples are given below:

	Sample I
	5
	6
	8
	1
	12
	4
	3
	9
	6
	10

	Sample II
	2
	3
	6
	8
	1
	10
	2
	8
	
	


Test the significance of the difference between the two sample means. (table value of t for 16df at 5% level is 2.12).
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